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1m = 100 cm

whA] 5m x 5m = 500 cm X 500 cm
= 250000 cm? YTt




1km? = 100 ha = 10000a = 1000000 m?
80a = 0.008 km?
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D 3.6ha = 360 m? @ 46a = 46000 m?
@240a = 0.024 km? @ 300m? =0.03a

® 8km? = 8000000 a
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@ 3.6 ha = 3600 m?
@ 46 a = 4600 m?
@ 300m? = 3a

® 8km? = 80000 a
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@ 0.04km? @ 0.4ha ® 400a
(@) 100000 m? ® 4ha
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@D 0.04km? = 4ha

® 400a = 4 ha

@ 400000 m? = 4000a = 40 ha
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@ 3t =3000kg

@ 2t = 2000000 g

® 0.65t = 650kg
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@9000t =9kg
@ 0.6kg=600g

@ 9000t = 9000000 kg




(2] Wol)=(AAZF Y Wol)-(AerelZe] yol)
= 60 x 50 — (50 + 40) x 20 =+ 2
= 3000 — 900 = 2100( m?2) = 0.21(ha)




7. o2 AEEe] Wols 2 ha QA FSHA L.
340m
/1
I
350m!

. \‘h
~--890m---""
cCF ha

(340 4 820) x 350 + 2 = 203000( m?)
= 20.3( ha)
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3200 — 81200
2000( m?)
B ca9] Zo])= 12000 x 2 + 120 = 200( m)
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I 4660000 cm?

T--30m----~
(=39 Hol)= (@9 Hol)+(©%] Hel)
=26x30+24+9%x8+2
=390 + 76 = 466 m?
= 4660000 cm?




